& Probability and Sets

Commutative AUB=BUA AnB=BnA

Associative AU(BuC)=Au(Bu?Q) ANn(BNC)=An(BnC)
Neutral element Aubd = A AnNnE=A

Absorbing element AUE=E And =0

Distributive AU(BNnC)=(AUB)N(AU Q) AnN(BUC)=(ANnB)U(ANCQC)
De Morgan's laws AnB=AUB AUB=AnB

B Number of ways it can happen

Laplace laws P(A) =
d (4) Total number of outcomes
Complement of an Event P(A) =1- P(A)
Union of Events P(AUB) = P(A) + P(B) - P(An B)
Conditional Probabili A ) — Bian )
onditional Probability )
Independent Events P(A | B) = P(A) P(AnB) = P(A) x P(B)
Permutation Po—nl=n (e 5. 2 %) e Py =41 =43l —24
T TR . O . T . B
Permutations without repetition S - A, = 621
Permutations with repetition AL =nf ex : E'A'3 = 5° =125
"Ap n! 54
i i n{:j — — -5 — —4 =
Combination 15 pr T ex - 10 5
Average value =T} + Z3ps + ... T ZpIg
Probability
Distribution | K
Standard deviation o= q > pilz; — p)’
i=1
Binomial distribution PX=Fk ="C.tf.1-p)"* e e

P(X=13)=19¢C;x0,6% x 0,4



